EHRINGEH —nzparad)

R4 O—R-HIK =X H23 H24 H25 H26 H27 H28 H29 H30
AB&EEZER £FHBE60—X R o — 7 (RBE) 3 7 4 2 4 4 6
SEEREE—TE(RE) 3 6 4 2 4 4 6
KEEEL 5 11 3 4 1 — — -
fBta—2x PR — 2 (REE) 1 1 2 1
SEERYH—TE(RE) 1 1 2 1
SEEREGA—TE (181 1 2 1
NEEEU T ZERER 11 10 6 7 3 6 8
HEEU T ZERER 10 5 5 5 3 6 6 3
BETHALO—X hEREH—E (RE) 1 1
SEERYHA—TE(RE) 1 1
SEERYM—TE(IE) - — — —
—REELTZERER 10 5 3 2 2 5 4
THREELTZEBRER 10 5 3 2 2 5 4
BYxREZH R G — 78 (RBE) 6 2 — — — -
SEERHEH—E(RE) 6 2 — — — —
FKEHH—TE 10 7 6 4 8 10 10 10
*&5+ 77 88 80 72 42 66 65 60
EEXBLTZEBRER 77 87 77 69 37 65 64 56
BT A
. , ”
BERINGE R —nznarad)
=y S O—R B B H23 H24 H25 H26 H27 H28 H29 H30
ABEAEFZR £FRE0—X FEERE A —E (RE) 33.3 43.7 57.1 33.3 0.0 50.0 66.6 100.0
SEFEREHE—TE(RE) 33.3 375 57.1 33.3 0.0 50.0 66.6 100.0
KEEEL 55.5 68.7 428 66.6 100.0 — — —
Bt —X FEERE A —E (RE) 9.0 0.0 12.5 0.0 50.0 16.6 0.0 0.0
SEFEREHE—TE(RE) 9.0 0.0 12.5 0.0 50.0 16.6 0.0 0.0
SEFREG—E (18) 9.0 0.0 0.0 0.0 50.0 16.6 0.0 0.0
NEERUTZERER 100.0 100.0 75.0 70.0 75.0 100.0 100.0 0.0
HEEU - ZERER 90.9 50.0 62.5 50.0 75.0 100.0 75.0 100.0
BETYHMO—R HhEREH—E(RE) 10.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0
SEERHEHE—E(RE) 10.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0
SEERHEA—TE(TE) — — — — 0.0 0.0 0.0 0.0
—REBETZERER 100.0 100.0 100.0 0.0 100.0 100.0 100.0 100.0
“HREBEELTZERER 100.0 100.0 100.0 0.0 100.0 100.0 100.0 100.0
BYEREZHE R G — 78 (RBE) 7.7 2.2 0.0 — — — — 0
SEERYEHE—E(RE) 7.7 2.2 0.0 — — — — 0
REHA—TE 12.9 7.9 75 5.5 19.0 15.1 15.3 16.7
*&5+ 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
EEXBLTZEBRER 100.0 98.8 96.2 95.8 88.0 98.4 98.4 93.3
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